

Registered Dietitian: Registration Examination for Dietitians First Exam Attempt - Summary by Registration Eligibility Pathway

July - December 2023

All ACEND Programs

Coordinated Program

	Total Tests	Passed	Percent Passed
1 st Attempt	486	292	60.1%

Dietetic Internship

·	Total Tests	Passed	Percent Passed
1 st Attempt	2,061	1,291	62.6%

Graduate Program

<u> </u>			
	Total Tests	Passed	Percent Passed
1 st Attempt	343	241	70.3%

Total (CP, DI & GP)

10141 (01) 21 4 01)			
	Total Tests	Passed	Percent
			Passed
Total	2,890	1,824	63.1%

Foreign Equivalency - Canadian Pathway

	T-4-1 T4-	December	D 4
	Total Tests	Passed	Percent
			Passed
1 st Attempt	26	20	76.9%



Individualized Supervised Practice Pathways (ISPPs)

CP ISPP – DPD Graduate

	Total Tests	Passed	Percent Passed
1 st Attempt	5	2	40%

DI ISPP - DPD Graduate

	Total Tests	Passed	Percent Passed
1 st Attempt	8	3	37.5%

DI ISPP - PhD Graduate (no DPD)

	Total Tests	Passed	Percent Passed
1 st Attempt	6	5	83.3%

DPD ISPP - DPD Graduate

	Total Tests	Passed	Percent Passed
1 st Attempt	59	28	47.5%

DPD ISPP - PhD Graduate (no DPD)

DFD ISFF - FIID Gladuate (IIO DI	FD)		
	Total Tests	Passed	Percent
			Passed
1 st Attempt	4	3	75%

Total (ISPP)

iolai (ISPP)			
	Total Tests	Passed	Percent
			Passed
Total	82	41	50%



Reciprocity

Netherlands

Hothorianao			
	Total Tests	Passed	Percent Passed
1 st Attempt	0	0	NA

Irish

	Total Tests	Passed	Percent Passed
1 st Attempt	2	2	100%

Philippines

	Total Tests	Passed	Percent Passed
Total	26	8	30.8%

Total (Reciprocity)

	Total Tests	Passed	Percent Passed
Total	28	10	35.7%

Grand Total (All First Attempt RD Exams)

	Total Tests	Passed	Percent Passed
Total	3,026	1,895	62.6%



Registered Dietitian: Registration Examination for Dietitians

Summary by Registration Eligibility Pathway for All Except State Licensure

July 1, 2023 to December 31, 2023

4,136 Candidates Taken 5,475 Tests

PEARSON CONFIDENTIAL

Data as of (CST): 25-Feb-2024 5:00 AM

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Coordinated Program					
Coordinated Program					
1st Attempt	486	292	60.1%	194	39.9%
2nd Attempt	174	84	48.3%	90	51.7%
3rd Attempt	69	18	26.1%	51	73.9%
4 or More Attempts	128	28	21.9%	100	78.1%
Total	857	422	49.2%	435	50.8%
Dietetic Internship					
Dietetic Internship					
1st Attempt	2,061	1,291	62.6%	770	37.4%
2nd Attempt	770	290	37.7%	480	62.3%
3rd Attempt	382	132	34.6%	250	65.4%
4 or More Attempts	630	153	24.3%	476	75.6%
Total	3,843	1,866	48.6%	1,976	51.4%
FG Coordinated Graduate					
Future Education Model Graduate Program					
1st Attempt	343	241	70.3%	102	29.7%
2nd Attempt	91	38	41.8%	53	58.2%
3rd Attempt	30	12	40.0%	17	56.7%
4 or More Attempts	26	12	46.2%	14	53.8%
Total	490	303	61.8%	186	38.0%
Foreign Equivalency					
Canadian Dietitian					
1st Attempt	26	20	76.9%	6	23.1%
2nd Attempt	3	2	66.7%	1	33.3%
3rd Attempt	2	1	50.0%	1	50.0%
Total	31	23	74.2%	8	25.8%



Registered Dietitian: Registration Examination for Dietitians

Summary by Registration Eligibility Pathway for All Except State Licensure

July 1, 2023 to December 31, 2023

4,136 Candidates Taken 5,475 Tests

PEARSON CONFIDENTIAL

Data as of (CST): 25-Feb-2024 5:00 AM

Section		Total Tested	Number Passing	% Passing	Number Failing	% Failing
1st Attempt 5 2 40.0% 3 60.0% 2nd Attempt 3 0 0.0% 3 100.0% 3rd Attempt 4 2 50.0% 2 50.0% 4 or More Attempts 8 1 12.5% 7 87.5% Total 20 5 26.0% 15 75.0% DI - ISPP - DPD GRAD 1st Attempt 8 3 37.5% 5 62.5% 2nd Attempt 7 1 14.3% 6 85.7% 3rd Attempt 3 0 0.0% 3 100.0% 4 or More Attempts 15 1 6.7% 14 93.3% Total 33 5 15.2% 28 84.8% DI - ISPP - PhD NO-DPD 1st Attempt 6 5 83.3% 1 16.7% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempt 29 28	ndividualized Supervised Practice Program					
2nd Attempt 3 0 0.0% 3 100.0% 3 100.0% 3rd Attempt 4 2 50.0% 2 50.0% 4 or More Attempts 8 1 12.5% 7 87.5% Total 20 5 25.0% 15 75.0% 20 25 70 25	CP - ISPP - DPD GRAD					
3rd Attempt 4 2 50.0% 2 50.0% 4 or More Attempts 8 1 12.5% 7 87.5% Total 20 5 25.0% 15 75.0% DI - ISPP - DPD GRAD 1st Attempt 8 3 3 37.5% 5 62.5% 2nd Attempt 3 0 0.0% 3 100.0% 4 or More Attempts 15 1 6 7.5% 28 84.8% DI - ISPP - PhD NO-DPD 1st Attempt 6 5 83.3% 1 16.7% 100.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% 1 100.0% 1 1 100.	1st Attempt	5	2	40.0%	3	60.0%
A or More Attempts	2nd Attempt	3	0	0.0%	3	100.0%
Total 20 5 25.0% 15 75.0% DI - ISPP - DPD GRAD 1st Attempt 8 3 3 37.5% 5 62.5% 2nd Attempt 7 1 14.3% 6 85.7% 3rd Attempt 3 0 0.0% 3 100.0% 4 or More Attempts 15 1 6.7% 14 93.3% Total 33 5 15.2% 28 84.8% DI - ISPP - DPD NO-DPD 1st Attempt 6 5 83.3% 1 16.7% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% DPD - ISPP - DPD GRAD 1st Attempt 25 7 28.0% 18 72.0% 3rd Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 17 43 36.8% 74 63.2% DPD - ISPP - DPD NO-DPD 1st Attempt 4 3 75.0% 1 25.0% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% Ard Attempt 4 3 75.0% 1 25.0% Total 17 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% Ard Attempt 1 0 0.0% 1 100.0% A or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% NO Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0% A or More Attempts 7 1 0 0.0% 1 100.0%	3rd Attempt	4	2	50.0%	2	50.0%
DI - ISPP - DPD GRAD	4 or More Attempts	8	1	12.5%	7	87.5%
1st Attempt 7 1 14.3% 6 85.7% 2nd Attempt 7 1 14.3% 6 85.7% 3rd Attempt 3 0 0.0% 3 100.0% 4 or More Attempts 15 1 6.7% 14 93.3% Total 33 5 15.2% 28 84.8% DI - ISPP - PhD NO-DPD 1st Attempt 6 5 83.3% 1 16.7% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 17 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 4 3 75.0% 1 25.0% 3rd Attempt 5 0 0.0% 1 100.0% 4 or More Attempts 27 7 25.9% 20 74.1% Total 17 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD Unknown Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0% A or More Attempts 1 0 0.0% 1 100.0%	Total	20	5	25.0%	15	75.0%
2nd Attempt	DI - ISPP - DPD GRAD					
3	1st Attempt	8	3	37.5%	5	62.5%
A or More Attempts Total 15	2nd Attempt	7	1	14.3%	6	85.7%
Total 33 5 15.2% 28 84.8% DI - ISPP - PhD NO-DPD 1st Attempt 6 5 83.3% 1 16.7% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% NO Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5%	3rd Attempt	3	0	0.0%	3	100.0%
DI - ISPP - PhD NO-DPD 1st Attempt	4 or More Attempts	15	1	6.7%	14	93.3%
1st Attempt 6 5 83.3% 1 16.7% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 4 3 75.0% 1 25.0% 4 or More Attempts 3 2 66.7% 1 33.3% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0	Total	33	5	15.2%	28	84.8%
3rd Attempt 4 or More Attempts Total 1 0 0.0% 1 100.0% Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 7 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 4 or More Attempts 3 75.0% 1 25.0% 3rd Attempt 4 or More Attempts 3 2 66.7% 1 33.3% Total No Pathway RD Unknown Pathway RD 3rd Attempt 4 or More Attempts 1 0 0.0% 1 100.0% No Pathway RD 3rd Attempt 4 or More Attempts 7 1 0 0.0% 1 100.0%	DI - ISPP - PhD NO-DPD					
4 or More Attempts Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 4 or More Attempts 3 2 66.7% 1 33.3% Total No Pathway RD Unknown Pathway RD 3rd Attempt 4 or More Attempts 1 0 0.0% 1 100.0%	1st Attempt	6	5	83.3%	1	16.7%
Total 8 5 62.5% 3 37.5% DPD - ISPP - DPD GRAD 1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempt 1 0 0.0% 1 100.0% 4 or More Attempt 1 0 0.0% 1 100.0%	3rd Attempt	1	0	0.0%	1	100.0%
DPD - ISPP - DPD GRAD	4 or More Attempts	1	0	0.0%	1	100.0%
1st Attempt 59 28 47.5% 31 52.5% 2nd Attempt 25 7 28.0% 18 72.0% 3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	Total	8	5	62.5%	3	37.5%
2nd Attempt 2nd Attempt 2nd Attempt 3rd Attempt 4 or More Attempts Total 2nd Attempt 2nd	DPD - ISPP - DPD GRAD					
3rd Attempt 6 1 16.7% 5 83.3% 4 or More Attempts 27 7 25.9% 20 74.1% Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts	1st Attempt	59	28	47.5%	31	52.5%
A or More Attempts 27	2nd Attempt	25	7	28.0%	18	72.0%
Total 117 43 36.8% 74 63.2% DPD - ISPP - Phd NO DPD 1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	3rd Attempt	6	1	16.7%	5	83.3%
DPD - ISPP - Phd NO DPD 1st Attempt	4 or More Attempts	27	7	25.9%	20	74.1%
1st Attempt 4 3 75.0% 1 25.0% 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	Total	117	43	36.8%	74	63.2%
3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	DPD - ISPP - Phd NO DPD					
4 or More Attempts 3 2 66.7% 1 33.3% Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	1st Attempt	4	3	75.0%	1	25.0%
Total 8 5 62.5% 3 37.5% No Pathway RD Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	3rd Attempt	1	0	0.0%	1	100.0%
No Pathway RD Unknown Pathway RD 3rd Attempt 4 or More Attempts 1 0 0.0% 1 100.0% 1 0 0.0% 1 100.0%	4 or More Attempts	3	2	66.7%	1	33.3%
Unknown Pathway RD 3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	Total	8	5	62.5%	3	37.5%
3rd Attempt 1 0 0.0% 1 100.0% 4 or More Attempts 1 0 0.0% 1 100.0%	No Pathway RD					
4 or More Attempts 1 0 0.0% 1 100.0%	Unknown Pathway RD					
4 or More Attempts 1 0 0.0% 1 100.0%	3rd Attempt	1	0	0.0%	1	100.0%
Total 2 0 0.0% 2 100.0%	4 or More Attempts	1	0	0.0%	1	100.0%
	Total	2	0	0.0%	2	100.0%



Registered Dietitian: Registration Examination for Dietitians

Summary by Registration Eligibility Pathway for All Except State Licensure

July 1, 2023 to December 31, 2023

4,136 Candidates Taken 5,475 Tests

PEARSON CONFIDENTIAL

Data as of (CST): 25-Feb-2024 5:00 AM

	Total Tested	Number Passing	% Passing	Number Failing	% Failing
Reciprocity					
Irish Reciprocity					
1st Attempt	2	2	100.0%	0	0.0%
Total	2	2	100.0%	0	0.0%
Philippines Reciprocity					
1st Attempt	26	8	30.8%	18	69.2%
2nd Attempt	15	1	6.7%	14	93.3%
3rd Attempt	5	2	40.0%	3	60.0%
4 or More Attempts	18	2	11.1%	16	88.9%
Total	64	13	20.3%	51	79.7%
Grand Total					
1st Attempt	3,026	1,895	62.6%	1,131	37.4%
2nd Attempt	1,088	423	38.9%	665	61.1%
3rd Attempt	504	168	33.3%	335	66.5%
4 or More Attempts	857	206	24.0%	650	75.8%
Total	5,475	2,692	49.2%	2,781	50.8%